No. of Printed Pages : 4

|

6

MP3002 RolINO. : weeeeriernceacnnnenn
Nov. 2023
METROLOGY & MEASUREMENT

fuifa ™ : 39 - [STerehaT 3 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
e () FHEAATIEEG feg

Note : There are three sections A, B and C in the paper.

(ii) BT CH g9 GEIT 1 & T 10 9T & IH T | FAF 9T @ 3% H & T
Tt 10 97T TG FFR F ToT H & |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT & 8 I 7 & 75T 6 F9A F I H7Y | FAF T 3 3% B 8 T
STHT 5 A15,/50 e 3 3T g |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) QFT @ %6 o) 7 8 6T 4 397 & IR G | FF T97 8 7% F 8 0
597 15 T57/150 V5] 5 IR G |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) T QI & G G 1 FHHGR T Gr9 & o |

Solve all the questions of a section consecutively together.
(vi) @1 urisT 7 sr g7 #1 R B 3 rgare & A 8 |

Only English version is valid in case of difference in both the languages.

ARA - T
SECTION - A
1. () Toreh wrom wisean < SReET e @
(a) el (b) Fefea
(c) Jemeda (d) ggua
Repeatability of any measurement system is known as
(a) Inspection (b) Sensitivity
X (c) Accuracy (d) Precision
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(i) T Hefiat =1 STeqaiss BlaT &

(a) 0.02mm (b) 0.001 mm
(¢) 0.2mm (d) ST H 8 his T
Least count of Vernier Calliper is
(a) 0.02mm (b) 0.001 mm
(¢) 0.2mm (d) None of the above
(iii) STATR TSR % &9 | S g« ° i o1 SR Blar g ?
(a) <9 o | (b) TI TR HT fowemo |
(c) ITH A (d) g w1 foRga g |
Which type of transformation takes place in bourdon tube as a primary transducer ?
(a) Pressure into displacement (b) Fluid level into displacement
(¢) Velocity into acceleration (d) Temperature into electric current
(iv) it d amr=rE: i o garel Swar R ST g 7
(a) I TS (b) wifem
(¢) fToex (@) T semEe
Which material is normally used in thermistor ?
(a) Copper oxide (b) Platinum
(¢) Silver (d) Nickel oxide
(v) HAIY JaTgHTH § FET0Y % HRO
(2) TSR 3eU= Bl STl € | (b)  CTUI=R H BN o B |
(c) Sfiy 7 §H oIl 2 | (d) oTiaT A B I R |

In restricted flowmeter due to restriction
(@) Pressure difference produce  (b) Temperature difference reduces

(¢) Resistance reduces (d) Capacitance reduces
(vi) §rE SR fopw faga W s g 7

(a) e (b) @M

(c) Prepmrih (d) @mifE

Sine Bar works on which principle ?

(a) Algebra (b) Log

(¢) Trignometry (d) Geometry
(vii) wIofRr ATew & e fopu Smd &

(a) WEIER (b) T

() Toermfe (d) SR o

Instruments used in Angular measurement are

(a) Sinebar (b) Angle gauge

(c) Clinometer (d) All of the above
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(viii) STes TTSS Td arferss @SSt o SISMIOIT 3T %1 HEd 3

(a) forarem (b) @fEeT
(c) fihe @ fafe
The algebraic difference of basic size and actual size is known as
(a) Deviation (b) Tolerance
(¢) Fit (d) Limit
(ix) Ffe foeht firm & fore i = (d) w@ $a gfal 6l @@ (1) &, @ 39 R &
TS (m) BT
(@ dxT (b) T/
(¢) d/T (d Txd?
If the pitch diameter is d, and total no. of teeth are T for any gear then gear module
(m) will be :
(a dxT (b) T/d
(¢ d/T (d Txd2
(x) T3 % et i S e TRR HI S B ?
() TEIE (b) ST 3
() THEHY IR (d) U o HIg T
Test of the level of machine is which type of test ?
(a) Alignment test (b) Practical test
(¢) Performance test (d) None of the above (1x10)
JE — &
SECTION - B
2. YEHAT g FTfAT § R AR B ?
What is the difference between Precision and Accuracy ? K))
3. TSI 1 FgT Tuesy J AeTdHTeh TTd it |
Explain the principle of micrometer and determine its least count. 3)
4. itren ferpa mfoe 3 wmw e Hwd fafe |
Write the advantages and limitations of mechanical strain gauges. 3)
5. grEHier W Eftre feuft fafey |
Write short note on Hygrometer. 3)
6. fTafie wa fhe =6t wftfya SHifsa |
Define limits and fits. 3)
7. IO WIS W SR gReTe Ui 3 o AT fRa |
Write down name of five instruments used in angular measurement. 3)

P.T.O.
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8.

10.

11.

12.

13.

14.

15.

SHIHIE & aiientor 1 fafau |

Write classification of tachometers.

firem 35 Aterge w frer <6y aftermen e |

Write the definition of Gear module and pitch.
YR —
SECTION - C
1o Y et i ferear & wwemsd |

Explain errors in measurement in detail.

e it X gitre feoaoft ferfa |

Write short note on slip gauges.

Tereal gt sremeet TTo YR 61w gueEd |

Explain any two torque measurement devices with diagram.

TR qrRHIET &1 9o T |

Explain optical pyrometer.

enitiet & affentor 1 gaemsY |

Explain classification of tachometer.

Teh TR ajar A et Sheftor o 39 o SRivTe %) Tmee |

Explain the uses and working of gear tooth Vernier Calliper.
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